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Class:10th
Test:Chemistry

TotalMarks.....

Attempt ......... questions
H &1 —==JHI
_au”/rw%(/u’fm’.zi N
L] D K=[H/[H]  wK=[HI/[H]L]
OK=[HIT/H]L] OK=[H]L)/[H] &K =[HI]/[H][L]

The reaction in which the number of moles of mu"”[ 1S ._.l:L»(} V/U/ EIV-0gs JI' S
i /LKcA&ldyu"” Al SISy

For the reaction H,+1,——=2HI the equilbrium
constant expression is:

D K=[H1T/[HI] wK.=[HI]/[H][L]
) K =[H,][L]/[HI]

reactants and products not equal in balance

chemical equation the units of Kc for this oA 4——!’
reactions are:
a) mol~ b) dm’ a) mol” b) dm"
¢)mol’ d)moldm” ¢)mol’ dmoldm"

> Color of Todine is: k3T
a) Black b) Yellow a) ol b) L
¢) Green d) Purple )z d) J,:'/,:

* The plant use: pl S 1y
a) CarbonDioxide  b) Oxygen a) ,‘gfm J (1571 b) u{r”
¢) Nitrogen d) Sulphur s £ d)

5 Who proposed the law of mass action: ?gﬂfﬁ@fﬂuhdi’;u
a) Newton b) Boyle a) /¥ b) S

¢) Guldberg and Waag d) Lavoisief

c) .fb/}ij/,%

d) 715

® We exhale gas in the atmosphete during el T @A}Jf O] 14J (/r’Z
respiration: )
a) CarbonDioxide  b) Oxygen a) LT3 Bk b) ‘f{l’
¢) Nitrogen d) Sulphur o) S Fl d)

7 The reversible reaction is represented by: - g 2. S b T u%.{; I Y
a)— b) —— a)— b)) ——
) L H— ) L—— f—

For which reaction k, is the rate constant:

a) Forward reaction b) Backward reaction
¢) Upward reaction d) Downward reaction
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a) fgl Dl
c) u:{l d/j/)h;!

_Luﬂ"guzgu“(i d/J/K
b) u’(ld/w.,C
d) J’('JJMU} fs



